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Add or subtract the expressions. Simplify your answer.

3 _ x*7

x?-9 x?-9
When adding or subtracting, the
denominators MUST be the same.

3-(x+7) Put the numerators together with a subtraction sign
x?-9

-x-4 Since it's subtracting, the x becomes -x and you will
x?-9 do3-7

-x -4 Factor if you can, and cancel if you can.
(x-3)(x+3) The bottom factors, but nothing cancels.
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Add or subtract the expressions. Simplify your answer.
5x - 6 e & 3
2x -3 2x -3
To add or subtract,
the denominators must be the same.

5x - 6)+(x-3 Put the numerators together with
2x -3 an addition sign

6x-9 Add the numerator.

2x-3

Factor and cancel if you can.
6x - 9 factors, and 2x - 3 will cancel
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Add or subtract the expressions. Simplify your answer.
x2+2 _ x2-2x+1
4x? - 4x -3 4x? - 4x -3

To add or subtract, the denominator must be the same.

x?+2)-(x*-2x+1 Put the numerators together with a
4x? - 4x - 3 subtraction sign
2x+1 Subtract the numerator
4x? - 4x - 3 x? cancels, -2x changes sign, and you do 2 - 1
2x +1 Factor the denominator using AC method

(2x + 1)(2x - 3) 2x + 1 cancels, leaving 1 in the numerator
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Add or subtract the expressions. Simplify your answer.
2x - 22 + x?-bx+4
2x?+x - 15 2x?+x - 15

To add or subtract, the denominator must be the same

2x -22)+(x’-5x+4 Put the numerators together with an

2x’+x-15 addition sign
x?- 3x-18 Add the numerator
2x2+ x - 15

x - 6)¢+ 3 Factor numerator and denominator.
(2x - B)(xN\3) Cancel the x + 3





